G =~ PSL(2,8): C3,p =7

Normalizers Ny Ny

p — subgroups of G up to conjugacy in G = P,

Representants n; O (1,2)(3,5)(4,6)(7,9) (1,4,8)(2,5,9)(3,7,6) (1,5,6)(4,9,8) (1,6,5)(4,8,9) (1,9)(2,6,8,3,4,5) (1,9)(2,5,4,3,8,6) (1,3,5,4,7,9,8,6,2) (1,5,7,8,2,3,4,9,6) (1,7,8,9,2,3,4,6,5) | () (1,3)(2,9)(4,8)(5,6) (1,4,3)(7,9,8) (1,8,3)(2,7,4) (1,7,2,8,9,3)(5,6) (1,2,4,9,7,3)(5,6)
Representants m; O (1,2)(3,5)(4,6)(7,9) (1,4,8)(2,5,9)(3,7,6) (1,5,6)(4,9,8) (1,6,5)(4,8,9) (1,9)(2,6,8,3,4,5) (1,9)(2,5,4,3,8,6) (1,3,5,4,7,9,8,6,2) (1,5,7,8,2,3,4,9,6) (1,7,8,9,2,3,4,6,5) | ) (1,5)(2,6)(3,4)  (1,2,4)(3,5,6) (1,4,2)(3,6,5)  (1,3,2,5,4,6) (1,6,4,5,2,3)
1-x14+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x90+0-x10+1:x11 |28 4 1 1 1 1 1 1 1 1 0 0 0 0 0 0
0-x1+1-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-x3+0-x9+0-x10+1-x11 |28 4 1 E(3) 2 E@3 E(3) 2 E(3) E@3)2 E(3) 1 0 0 0 0 0 0

0- X140 x2+1-x34+0-xs+0-x5+0-x6+0-x7+0-Xs+0-xo+0-x10+1-x11 | 28 4 1 E(3) E(3)2 E(3) E(3)2 E(3) E(3)2 1 0 0 0 0 0 0
0-x1+0-x24+0-x34+1-x44+0-x54+0-x64+0-x74+0-xs+0-x0+0-x10+0-x11| 7 -1 -2 1 1 -1 -1 1 1 1 0 0 0 0 0 0
0-x1+0-x2+0-x34+0-xa+1-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11| 7 -1 -2 E(3)2 E(3 —E(3)" 2 —E(3) E(3) 2 E(3) 1 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+1-Xx6+0-x7+0-x3+0-xo+0-x10+0-x11| 7 -1 —2 E(3) E(3) 2 —E(@3) —E(3)"2 E(3) E@3)2 1 0 0 0 0 0 0
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x74+0-xs+0-x9+0-x10+1-x11135 3 -1 2 2 0 0 -1 -1 —1 0 0 0 0 0 0
0-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+1-x0+0-x10+1-x11 |35 3 -1 2% E(3)" 2 2% E(3 0 0 —E(3)"2 —E(3) -1 0 0 0 0 0 0
0-x14+0-x24+0-X3+0-x2+0-x54+0-x6+0-x7+1-xs+0-x9+0-vi0+1-x11 | 35 3 1 2% E(3) 2% (32 0 0 —E(3) —E(3)° 2 ~1 0 0 0 0 0 0
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-x5+0-x9+1-x10+0-x11 1|21 -3 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-x4a4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11| 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x14+0-x24+0-x34+0-xa+0-x54+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11| 8 0 -1 2% E(3)"2 2% E(3 0 0 —-E3)2 —E(3) -1 1 -1 E(3) 2 E(3) —E(3) —E(3)2
0-x1+0-x24+0-x3+0-x4+0-x5+0-x6+0-x7+1-xs+0-x9+0-x10+0-x11]| 8 0 -1 2x E(3) 2% E(3) 2 0 0 —E(3) —E(3)"2 -1 1 -1 E(3) E(@3) 2 —E@3) 2 —E(3)
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+1-x7+0-xs+0:-xo0+0-x10+0-x11| 8 0 -1 2 2 0 0 -1 -1 -1 1 -1 1 1 -1 -1
0-x1+0-x2+1-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+0-x11| 1 1 1 E(3) E(3) 2 E(3) E(3)2 E(3) E(3)2 1 1 1 E(3) E(3)2 E(3) 2 E(3)

0 X1+ 1 X2+ 0 X5+ 0 xa+0:x5+0 540 x7+0 xs+0 xo+0 x10+0 xa1 | 1 | 1 O E(3) E@3) 2 E(3) E(3) 2 E(3) 1 1 1 B(3) 2 E(3) E(3) E(3) 2

P, = Group([()]) = 1
Py, = Group([(1,9,4,7,8,2,3)]) = C7

6,7,8)]) = PSL(2,8) : C3
,8,9),(2,9,7,4,3,8)(5,6)]) =~ C7 : C6



